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SECTION B 

029a) Glass; light; breaks 

u / l \ ( I '\ I

030a) D ,, n � 

030b) Small intestine 

031a) Has definite volume 

031b) None 

031c) Has definite shape & has definite volume 

032a) Non-magnetic 

032b) Repelling 

033a) Matter occupies space and has mass. 

033b) Gas, liquid and solid 

08 09 

2 2 

019 

3 2 

.02s ... 

2 

033c) 
Pebbles are matter and occupy space. The extra pebbles occupy the 

space originally taken up by the water and the water would overflow. 

034a) Adult -. egg -. larva -. pupa 

.010 

4 

020 

1 

Oil floating on the surface of the water blocks the breathing tube of the 

034b) young mosquito, causing them to be unable to breathe. This leads to them 

dying and will not grow into adult mosquitoes to breed. 
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QJ4c) 
The warmer the temperature of the surroundings, the more the mosquito 
eggs hatched in a day. 

Q35a) i. True ii. False iii. True

Q35b) The food stored in the seed leaves is being used up by the seedling. 

Q35c) The leaves make food for the plant. 

Q36a) Stroking method 

They will. attract. Erid Y of the.iron bar becomes the South-pole of the 
Q36b) temporary magnet and unlike poles attract so end Y would be attracted to 

North-pole of magnet Z. 

Q36c) The magnet is the strongest at its poles. 

To find out if more coils of wire around the nail will affect the number of 
Q37a) steel pins attracted. 

Q37b) Use lighter steel pins. 

1. Remove on battery
QJ?c) 2. Increase number of coils around iron nail to be equal to set up B

QJ7d) 
As there was no batteries, the iron nail could not become an 
electromagnet, so it could not attract any steel pins. 

Q38a) 100 

Q38b) Light travels in a straight line. 

Q38c) Type of beaker; type of light sensor; amount of light given off by torch 

Q38d) Add some cooking oil to the water. 

Q39a) Height of shadow decreases. 

Q39b) Move torch closer to the rubber ring. 

QJgc) 
It is because the material allowed more light to pass through than the 
rubber ring. 

Q40a) Boiling water. 

Q40b) 
A. A took the least amount of time for the wax to melt completely as A
gains heat the fastest.

Q40c) Size of rods. 

Q40d) 
The liquid wax lost heat to the surrounding air and froze to become solid
wax. 

Q41a) Solid. 

Q41b) The ice gained heat from the surrounding air and melted into water. 

Q41c) ! A. The beaker in A has less water, so less heat is needed to boil the water. 
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